#### **CENLANA ASC Meeting**

#### Central Louisiana Area of Narcotics Anonymous Area Service Committee Meeting

#### Meeting convened at 12:40 pm on 04-17-2021

The meeting was opened by Jack H. with a moment of silence followed by the Serenity Prayer.

Ashley read the 12 Traditions and Joe read the 12 Concepts.

#### **Administrative Service Committee**

Chairperson- Jack H.	Present	
Vice Chair- Dustin	Present	X <del>XXXXXXXXX</del> XXXXXXXXXXXXXXXXXXXXXXXXXX
Treasurer- Doug F.	Present	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
Secretary-	Vacant	
	Subcommittees	
H & I- Trevis J.	Present	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
PR- Trevis J.	Present	( <b>%%%%%%%%%</b> (X
Literature- Greg H.	Present	<del>xxxxxxx</del> x
Policy- Ashley C.W.	Absent	8080e475/k(81K)
ASR- Jack H.	Present	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
ASRA- Dustin.	Present	( <b>%%%%%%%%</b> %%)
Activities - Ashley C.W.	Absent	<b>X306X</b>

#### **Group Service Representatives**

Group		Voting	Host
Clean & Serene	Dustin	Yes	Feb.
Jones Street	Joe F.	Yes	Mar.
New Life Group	John P.	Yes	April.
No Matter What	Greg H.	Yes	May.
Talking Heads	Doug F.	Yes	June.
The Addict Family	Frank A.	Yes	July.
Zoo Krew	Malcolm B.	Yes	Aug.

**Secretary's Report:** GSR's and Subcommittees read in silence for any corrections and then motion to approve report.

**Treasurer's Report:** (see Doug for any questions)

Treasurer reading report to ASC to submit

Motion was made to accept the Treasurer's report.

The Treasurer's report was accepted by ASC.

#### **Subcommittee Reports:**

H & I: Trevis read the report (report attached)

Public Relations: Trevis read the report (report attached)

Literature: Greg read the report (report attached)

Policy: Ashley read the report (absent)

ASR: Jack read the report (report attached)

Activities: Ashley read the report (absent w report)

#### **GSR Reports:**

Clean & Serene: Dustin read the report (report attached)

Jones Street: Joe F. read the report (absent)

New Life Group: John P. read the report (report attached)

No Matter What: Greg H. read the report (report attached)

Talking Heads: Doug F read the report (report attached)

The Addict Family: Frank A read the report (report attached)

Zoo Krew: Malcolm B read the report (absent)

**Old Business:** (New or unresolved business from last ASC meeting).

It was brought to the attention of ASC that the meetings at high noon may no longer be NA meetings. All agreed to investigate by attending when possible. Robbie L resigned from literature, H & I and his ASR position. This will move Jack H from ASRA to interim ASR. Dustin E will now be the ASC interim chair. The next Regional sub committee meeting will be via zoom on April 11. Other members of ASC will assist Jack H for his first regional meeting.

#### **New Business:**

Motion# 210401 to waive the clean time requirement of 1 year to elect Robbie L as ASRA. Motion ruled out of order and withdrawn. Motion# 210402 to remove High Noon from all N.A. related meeting schedules due to that group no longer being an N.A. meeting passed. GSR's to take back to their groups a vote to rescind our previous vote for the RSC to set aside \$10,000 for a billboard fund. GSR's voted to use the new motion form which passed.

#### **Elections:**

#### **Announcements:**

Unity Day hosted by the Acadiana Area will be Saturday April 24th at 5pm at the No Limit 4 Recovery Clubhouse. No Matter What Group hosting next Area Saturday May 15th, 12 noon at the River City Clubhouse.

#### Final Treasurer's Report:

Presented and read by Doug F. (See Doug for details) Motion made to accept final Treasurer's Report. All in favor. Motion to close, all in favor.

Meeting adjourned at 2:30pm

Central Louisiana Deposit Date / A	mount:	415/21	\$155,00		AVAILABLE BALAN	ICE		\$ 124138		
Ending Balance F	rom 3		\$ 1711.38					10011100		
Bank Balance			\$ 1948.6		Donations/ Group	Amount				
			( ) ( )		Cleanuse		\$50,00			
Outstanding che	cks				TAIKING	teads		\$ 11,75		
Description	Check #	Date	Amount		Clean & Se TAIKING H No MAH	er wha	+	\$ 25.00		
R SC donations		3-20-21	217,24					\$		
Rent	1390	3-20-21	20,00					\$		
								\$		
						1		\$ 86.75		
				-			Total	3 86.19		
		Total:	\$237.24	(-)	Funds Claimed	Date	Check #	Amount		
					Prudent Reserve			\$		
Funds Held Aside	=	Plus/Minus	Totals Aside		Activities			\$		
Prudent Reserve	\$150				H&I			\$		
Activities	\$400	400,00			P. R.			\$		
H&I	\$50				Secretary			\$		
P. R.	\$30				RSC Travel			\$		
Secretary	\$30				Literature			\$		
RSC Travel	\$ <del>15</del> 0				×			\$ _0/		
Literature	\$0		460,00				Total	\$ 4		
	\$ 260		1		Ending Funds Held	1		\$ 4 60,00		
	\$810		\$ 8 1000	(-)						
					Money In/Out: Re	ason	Check#	Amount		
Expenses		Date	Amount		Rent		#1393	\$ 20.00		
Hotline	\$13.75	3-19-21	\$13,75					\$		
Rent	\$20		\$					\$		
Bank Fee/			\$					\$		
			\$					\$		
		Total	\$33.75	(-)			Total	\$		
					p					
Funds on Hand	))		\$1711.38		RSC Donation 20%	-0-	Total	\$ -0		
AVAILABLE BALA	NCE		\$1241.38		Working Balance	\$1308.13	Ending Balance	\$176812		
NOTES:		Nec land								
					eport for					
					the up		Treas	user		
report	for	thic n	restin	U C	4-17-21	t .				



CASH MANAGEMENT | CHECKING | MONEY MARKET | CDs | LOANS

▶ Contact your Relationship Manager to discuss targeted solutions for your evolving business needs.

CENTRAL LA AREA OF NARCOTICS ANONYMOUS 2130 POLK ST **ALEXANDRIA LA 71301** 

ACCOUNT SUMMARY

FOR PERIOD MARCH 01, 2021 - MARCH 31, 2021

Spark Basic Checking	ALPHA PA		TRAL LA AREA OF
Previous Balance 02/28/21	\$2,157.37	Number of Days in Cycle	31
1 Deposits/Credits	\$90.00	Minimum Balance This Cycle	\$2,157.37
3 Checks/Debits	(\$53.75)	Average Collected Balance	\$2,222.24
Service Charges	\$0.00		
Ending Balance 03/31/21	\$2,193.62		

ACCOUNT DETAIL FOR PERIOD MARCH 01, 2021 - MARCH 31, 2021

Spark B	Basic Cl	necking 1000208 19235	
---------	----------	-----------------------	--

#### **CENTRAL LA AREA OF NARCOTICS ANONYMOUS**

Date	Description	Deposits/Credits	Withdrawals/Debits	Resulting Balance
03/01	Customer Deposit	\$90.00		\$2,247.37
03/18	Check 1387		\$20.00	\$2,227.37
03/18	Check 1389		\$20.00	\$2,207.37
03/19	ACH Withdrawal FreedomVoice 8004771477 031921 Glenn Gillard 036-0049242288		\$13.75	\$2,193.62
Total		\$90.00	\$53.75	

#### Spark Basic Checking 60002081988512

#### **CENTRAL LA AREA OF NARCOTICS ANONYMOUS**

Checks * designates gap in check sequence									
Check No.	Date	Amount	Check No.	Date	Amount	Check No.	Date	Amount	
1387	03/18	\$20.00	1389*	03/18	\$20.00				

Thank you for banking with us.

PAGE 1 OF 2



#### **H&I Area Report**

H&I still continues monthly meetings at Gateway on the 1<sup>st</sup> Saturdays of the month from 6:30 to 7:30pm and the proceeding Saturdays are speaker meetings from N.A. members with 1 or 2 addicts sharing their own story and still keep within the traditions of N.A. We also have H&I meetings at the Red River Treatment Center in Tioga on the 1st Tuesdays from 6:30-7:30pm and a speaker meeting on the 3<sup>rd</sup> Tuesdays of every month. Both facility meetings are going well with no major issues and I still have plenty of literature for both meetings. We still need to practice social distancing and mask requirements per facility and state guidelines. I would like to thank all those who are a part of this vital service to reach the still sick and suffering addict.

Respectfully Submitted Trevis J H&I Chair

#### P.R. Area Report

#### Greetings members,

Myself and other members have verified that the High Noon meeting is no longer an N.A. meeting. When I attended that meeting, it was an A.A. Meeting with all the readings for that fellowship as well as being a Big Book study. As far as I can tell, there is only a single home group member who does book study with the treatment center. I have updated the meeting schedule in anticipation of our Area voting to remove that group from all N.A. related meeting lists. The Sunday night meeting at that location is still an N.A. meeting and will remain on our N.A. related meeting lists. I also redesigned the updated meeting list with plenty of room for phone numbers on the back. I made a separate design for the treatment centers because they do not need the phone list since we are encouraged not to give out our phone numbers as panel members and speakers. Instead, I have information for our Area and Regional Hot-lines as well as our Area and Regional websites along with the 3<sup>rd</sup> Step Prayer. There is still an issue with the updated information flowing to the na.org meeting search data base. Richard is still working to resolve that.

Thank you for allowing me to be of service.

Respectfully Submitted Trevis J P.R. Chair

#### **Literature Area Report**

I had \$24.00 cash on hand tuned over to me with \$361.54 worth of literature last Area. I since sold \$63 worth of literature for a total cash on hand of \$87.00 with \$310.94 worth of literature. I plan on ordering more literature with the total cash on hand. I am enclosing my inventory spreadsheets.

Respectfully Submitted Greg H Literature Chair

#### Main Monthly Inv. Report

Date: 04/17/2021

I.P. Purchase

Item	Quantity	Cost	Cost To	otal	Sal	e Price	Sa	les Total	Cash		
Basic Text	1	\$ 12.15	\$	12.15	\$	14.00	\$	14.00			
Guiding Principles	3	\$ 11.65	\$	34.95	\$	14.00	\$	42.00	On Hand	\$	24.00
It Works How & Why	0	\$ 9.55	\$		\$	12.00	\$	-			
Living Clean	2	\$ 10.35	\$	20.70	\$	12.00	\$	24.00	Literature Sold	\$	63.00
Just for Today Meditaton	2	\$ 9.55	\$	19.10	\$	12.00	\$	24.00			
Step Working Guide	2	\$ 9.00	\$	18.00	\$	11.00	\$	22.00	Recieving	\$	-
NA White Book	23	\$ 0.80	\$	18.40	\$	2.00	\$	46.00			
Totals:			\$ 1	23.30			\$	172.00	Turning in	\$	-
Tag / Medallion / Chip									Special Orders	1	
Tags			1						Total on Hand	\$	87.00
White	45	\$ 0.56	\$	25.20	\$	0.65	\$	29.25			
30Day	29	\$ 0.56	\$	16.24	\$	0.65	\$	18.85			
60Day	25	\$ 0.56	\$	14.00	\$	0.65	\$	16.25			
90Day	40	\$ 0.56	\$	22.40	\$	0.65	\$	26.00			
6Months	17	\$ 0.56	\$	9.52	\$	0.65	\$	11.05			
9Months	20	\$ 0.56	\$	11.20	\$	0.65	\$	13.00			
1Year	54	\$ 0.56	\$	30.24	\$	0.65	\$	35.10			
18Months	14	\$ 0.56	\$	7.84	\$	0.65	\$	9.10			
2+ Years B&G	0	\$ 0.56	\$	-	\$	0.65	\$	-			
Chips											
White	0	\$ 0.40	\$	-	\$	0.50	\$	-			
Medallion	15	\$ 3.40	\$	51.00	\$	5.00	\$	75.00			
Totals:			\$ 1	87.64			\$	233.60			
Sub Totals:			\$ 31	0.94			\$	405.60			

the state of the same of the s	t	neutile surrous reservation and	A CONTRACTOR OF THE PARTY OF TH	les	ioo		
		e acting the sector, the constitution	the view of transmit of the color table and the color of the color of	Invo	oice	I be recovered) in contrasts contrasts of the contrast contrasts and contrasts and the contrast contrasts as an elementar of an elementar of a contrast of a	and the condition for the secondary of the condition of t
Pate Totaled:04/17/2021		nam i si milata di ari masa		t access particles for the control of the control o	and the second s	A CONTROL OF THE PROPERTY OF T	
tem	Quantity Sold	agorde to the first of the firs	Cost	Tot	al Cost	Person/Group Sold To	Date
Basic Text	1	\$	14.00	\$	14.00		
Guiding Principles		\$	14.00		A		
Works How & Why	3	\$	12.00	\$	36.00		1
lust For Today Meditation		\$	12.00				
iving Clean		\$	12.00				
Step Working Guide	2	\$	11.00	\$	22.00		
NA White Book		\$	2.00		4		
AM AALIIGE DOOK							
Totals:				-			
Tag / Medallion / Chip		particular program					
Tags		<b>I</b> \$	0.65				
<b>Tags</b> White		\$	0.65 0.65				
<b>Tags</b> White 30Day		\$					
<b>Tags</b> White 30Day 60Day		_	0.65				
Tags White 30Day 60Day 90Day		\$ \$ \$	0.65 0.65		3.25		
Tags White 30Day 60Day 90Day 6Months		\$ \$ \$ \$	0.65 0.65 0.65	\$	3.25 3.25		
Tags White 30Day 60Day 90Day 6Months 9Months		\$ \$ \$ \$	0.65 0.65 0.65 0.65	\$			
Tags White 30Day 60Day 90Day 6Months 9Months		\$ \$ \$ \$	0.65 0.65 0.65 0.65 0.65 0.65	\$	3.25		
Tags White 30Day 60Day 90Day 6Months 9Months 1Year 18Months		\$ \$ \$ \$ \$	0.65 0.65 0.65 0.65 0.65	\$			
Tags White 30Day 60Day 90Day 6Months 9Months		\$ \$ \$ \$ \$	0.65 0.65 0.65 0.65 0.65 0.65	\$	3.25		
Tags White 30Day 60Day 90Day 6Months 9Months 1Year 18Months		\$ \$ \$ \$ \$	0.65 0.65 0.65 0.65 0.65 0.65	\$	3.25		
Tags White 30Day 60Day 90Day 6Months 9Months 1Year 18Months		\$ \$ \$ \$ \$	0.65 0.65 0.65 0.65 0.65 0.65	\$	3.25		
Tags White 30Day 60Day 90Day 6Months 9Months 1Year 18Months		\$ \$ \$ \$ \$ \$ \$	0.65 0.65 0.65 0.65 0.65 0.65	\$ \$	3.25		
Tags White 30Day 60Day 90Day 6Months 9Months 1Year 18Months Muliple Years		\$ \$ \$ \$ \$	0.65 0.65 0.65 0.65 0.65 0.65	\$ \$	3.25		
Tags White 30Day 60Day 90Day 6Months 9Months 1Year 18Months Muliple Years		\$ \$ \$ \$ \$ \$ \$	0.65 0.65 0.65 0.65 0.65 0.65 0.65	\$ \$	3.25		
Tags White 30Day 60Day 90Day 6Months 9Months 1Year 18Months Muliple Years		\$ \$ \$ \$ \$ \$ \$	0.65 0.65 0.65 0.65 0.65 0.65	\$ \$	3.25		
Tags White 30Day 60Day 90Day 6Months 9Months 1Year 18Months Muliple Years  Chips White		\$ \$ \$ \$ \$ \$ \$	0.65 0.65 0.65 0.65 0.65 0.65 0.65	\$ \$	3.25		
Tags White 30Day 60Day 90Day 6Months 9Months 1Year 18Months Muliple Years  Chips White		\$ \$ \$ \$ \$ \$ \$	0.65 0.65 0.65 0.65 0.65 0.65 0.65	\$ \$	3.25		

# Orders & Request

			٠						- 1						- 1				1
		 _	2	- *	-			4/14/2021	4/15/2021		4/3/2021 Doug F.	3/30/2021	3/30/2021		3/20/2021	3/20/2021	3/20/2021	3/20/2021	
							-	Edward G	No Matter What		Doug F.	Pat	Pat		No Matter What	No Matter What	No Matter What	3/20/2021 No Matter What	Who
								Greg H	Greg H		Greg H	Greg H	Greg H		Greg H	Greg H	Greg H	Greg H	Contact Info
	100							It Works How and Why	It Works How and Why		It Works How and Why	Step Working Guide	Basic Text		Multiple Years	9 Month Key Tag	6 Month Key Tag	Step Working Guide	Item
					- 2 Y						1	_			10	5	5		Quantity
	2							\$12.00	\$12.00		\$12.00	\$11.00	\$14.00	3	\$0.65	\$0.65	\$0.65	\$11.00	Price
en en					2. <sup>18</sup>						\$12.00				\$6.50	\$3.25	\$3.25	\$11.00	Total
					 -2	1		04/15/2021		_	04/03/2021		T			-		3/20/21	Date Recived
									Greg H It Works How and Why 1 \$12.00 \$12.00 04/15/2021	It Works How and Why 1 \$12.00 \$12.00  It Works How and Why 1 \$12.00 \$12.00	It Works How and Why 1 \$12.00 \$12.00 It Works How and Why 1 \$12.00 \$12.00	It Works How and Why 1 \$12.00 \$12.00  It Works How and Why 1 \$12.00 \$12.00  It Works How and Why 1 \$12.00 \$12.00	It Works How and Why  1 \$12.00  It Works How and Why  1 \$12.00  It Works How and Why  1 \$12.00	Basic Text	Basic Text 1 \$14.00 \$14.00 3/ Step Working Guide 1 \$11.00 \$11.00 3/ It Works How and Why 1 \$12.00 \$12.00 04/ It Works How and Why 1 \$12.00 \$12.00 04/ It Works How and Why 1 \$12.00 \$12.00 04/	Multiple Years 10 \$0.65 \$6.50  Basic Text 1 \$14.00 \$14.00  Step Working Guide 1 \$11.00 \$11.00  It Works How and Why 1 \$12.00 \$12.00  It Works How and Why 1 \$12.00 \$12.00  It Works How and Why 1 \$12.00 \$12.00	9 Month Key Tag 5 \$0.65 \$3.25  Multiple Years 10 \$0.65 \$6.50  Basic Text 1 \$14.00 \$14.00 3  Step Working Guide 1 \$11.00 \$11.00 3  It Works How and Why 1 \$12.00 \$12.00 04  It Works How and Why 1 \$12.00 \$12.00 04	6 Month Key Tag   5   \$0.65   \$3.25       9 Month Key Tag   5   \$0.65   \$3.25       Multiple Years   10   \$0.65   \$6.50       Basic Text   1   \$14.00   \$14.00   3     Step Working Guide   1   \$11.00   \$11.00   3     It Works How and Why   1   \$12.00   \$12.00   04     It Works	Step Working Guide     1     \$11.00     \$11.00       6 Month Key Tag     5     \$0.65     \$3.25       9 Month Key Tag     5     \$0.65     \$3.25       Multiple Years     10     \$0.65     \$6.50       Basic Text     1     \$11.00     \$14.00     \$14.00       Step Working Guide     1     \$12.00     \$12.00     \$12.00       It Works How and Why     1     \$12.00     \$12.00     \$12.00     04       It Works How and Why     1     \$12.00     \$12.00     04

# Activities Expense Report

Ticket Sales 1612.00

50/50 raffle 158.00

Auction 88.00

Buy Bock 60.00

1918.00

4 400.00

Activities Budget

9 2318.00 - Money Recieved

Expenses:

Walmart: \$100 (\$73,\$57)

Krager: \$78

Sams: \$230

Super1: \$44

Dollar General: \$50

Crawfish: \$1000

\$1504.00 Spent or 814.00.

# Clean & Serene Report 4/17/2/

Hey family Cleans and Serene is doing well.

We still have 4 meetings of month at 7pm on Sundays att Piver City Clubhouse We have had good Attendance this month, we have a Gelebrations on May 16th Janvis F. with 3 years and Dustin E. with 4 years. Our Area donation 15 50.00

Thanks for allowing me to be of Service.

Dustin E-GSR.

Ckan & Serene

John Pared Lotons. Peter John Meding Donalion Tallows Extra Vice John P. TS Shupan

#### **NO MATTER WHAT**

Hello Family,

Our meeting attendance has been stable with an average of 12-14 people. We continue to serve food plates every Thursday from 6-7PM for a five-dollar donation. We have a area donation of \$ 25.00. We look forward to continuing to carry a message and maintain an attractive atmosphere of recovery.

**Gratefully Serving,** 

Greg H.

TAIKING Heads GSR REVOLT 4-17-21

My NAME is Dova 2Nd I'm 2N 2ddiot. We still have meeting & Tresdays x fridays 2t 21001.m., Still not having good attendance. But it is doing 21: the better Friday, We have a donation of \$11.75 2t this time.

Doug Service,

April 17, 2021 Hey Family, The Addicts Family is doing well. We still have neetings every Saturday night at 7pm at Piver City Clubhouse. This month we had a total of 14 people in attendance at our meetings. We do not have an AREA donation this month. Thank you for allowing me to be of service.

-Frank A.

GSIZ

The Addicts Family

## CENTRAL AREA N.A. MOTION FORM

Date 4/19/21	
Motion Made By Dwstin E Position	on or Group: Nice Chair (
Second By	on or oroup. Vice Mair C
Motion Reads: Motion to remove the Area Meeting Scheen MA Make to no tour MA May that group. Group is a meetings.	eetings being held
Intent of Motion:	
Financial Impact on Area: (if applicable)  Motion Status For Secreta	
Motion Withdrawn Yes No	
Motion to Table Made by	Second by
Yes No Abstain	Motion to table = Pass Fail
Motion to Amend Made by	Second by
Yes No Abstain	Motion to amend = Pass Fail
Main Motion Yes 6 No	Abstain
Main Motion = Pass	Fail

## CENTRAL AREA N.A. MOTION FORM

Date <u>4-11-01</u>	
Motion Made By Frank A. Position	on or Group: ASRA
Second By Grey It,	
Motion Reads: I make a mo time due to experience + ASRA.	tion to wave clean elect Robbie L. as
Intent of Motion: To further the Knowledge of the Area.	advancement +
Financial Impact on Area: (if applicable)	
Motion Status For Secreta	ary's use only
1 Motion Withdrawn Yes No 2 Motion to Table Made by	Casand hu
Yes No Abstain	• •
	Motion to table = Pass Fail
Yes No Abstain	Motion to amend = Pass Fail
4 Main Motion Yes No Main Motion = Pass	
1 400	